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*lEi: £*li~ 

- ,1t11ITr;~~l!6!J.-fFl ' jtJi~>J'lj;..( T ~ F ft* r. J It- r -fFlJ 0 (20%) 
(please judge the following statements which are true or false.) 

___ 1.~~.~L4.~Ji~~.~L4-fFl6!J~~~~k~~~~o 


___ 2.~~~~~~~.~L~.6!J~~~k~~~~o 


___ 3.~~.~L~-fFl~Ji~~.~L4.6!J~~-~k~~_~o 


___ 4.~~~~6!J~~-~~k~-~6!Jo 


___ S.~~~~~~.~-~6!J~~~k~~~~o 


___ 6.~~~~~~6!J~~k-~6!Jo 


___ 7. ~~t~'Ii..~6!J~~~k~~~~ 
0 

___ 8.~~~4_~k~~~~o 
___ 9. ~~~~~~*~4.6!J~~-~k~~~~ 0 

___ 10. ~~4'1i..~6!J~~-~k~~~~o 

~'.~lTrH~~~~k••~'~.~~*k~.~o.~~~M*~*~6!J~*'~n 
.-fi** ' ,., ~ .-fi**~.-fi_* ' ~~;'J Jb )l.ila (20%)0 

(Using some method (e.g. truth table, short-cut or tableaux system) shows that the following 

formulae are tautologies, contradictions, or indeterminate formulae. Computational process is 

required.) 

(a) (A-+B)-+ (B-+C) 

(b) ...,«P-+(Q-+R))-+«P-+Q)-+(p-+R))) 

(c) (G"...,G)-+H 

(d) Mv(N-+...,M) 

~,1t~.~~6!J*~~*~~.~4*,~g*~.-fi_*.)'~~rH~**Hk~4~ 
~.~ , ~4~~_~.M;f;Jt..&:{J'l~. (20%)0 

(please use any method known by you, e.g. natural deduction, axiom system or tableaux system 
to prove whether each of the following argument is valid. And specify a counterexample if it is 
invalid.) 

(a) ('v'x)«(Kx-+Mx)v...,Nx), ...,(3y)(NyvKy) I- (3x)Mx t;;mll
(b) ...,A-+B, B~...,C, C 

IJI Jl~2JlI 
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# §: £*1lf4. 

t!9 ' ttlt wt:1i~"'-it* tti~ <p It-J DNF a.. CNF 0 (20%) 

(Find out the DNF and CNF each which is equivalent to the following fonnulae <p.) 

(a) 
p Q R <p 

T T T F 

T T F F 

T F T T 

T F F F 

F T T F 

F T F T 

F F T F 

F F F T 

1. itJJt1J1J\{Slippery Slope Fallacy) 

2. '&rf'lt If!: 1.0 It-J 1J1J\{Argument from ignorance) 

http:1f.&:f~1,*"".fg

